#### Demographic Data Provided by Judges and Justices Relative to Gender and Race/Ethnicity\* (Gov. Code, § 12011.5(n))

#### Gender

i.

Court	Fe	male	М	ale	Т	otal
	Ν	%	Ν	%	Ν	%
Supreme Court	3	42.9%	4	57.1%	7	100.0%
Court of Appeal	32	30.5%	73	69.5%	105	100.0%
Trial Court	398	26.8%	1,088	73.2%	1,486	100.0%
Total	433	27.1%	1,165	<i>72.9%</i>	1,598	100.0%

1

1

#### Race/Ethnicity\*

	Ind Alaska	erican ian or a Native			Afi	ick or rican	-	anic or		Islander				e Other		e Than				
Court	0	nly	Asia	n Only	Amerio	can Only	Latin	to Only	0	nly	White	e Only	Race	Only**	One	e Race	No Re	esponse	Te	otal
	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%
Supreme Court	0	0.0%	1	14.3%	0	0.0%	1	14.3%	0	0.0%	4	57.1%	0	0.0%	1	14.3%	0	0.0%	7	100.0%
Court of Appeal	0	0.0%	3	2.9%	3	2.9%	3	2.9%	0	0.0%	86	81.9%	0	0.0%	9	8.6%	1	1.0%	105	100.0%
Trial Court	2	0.1%	66	4.4%	68	4.6%	96	6.5%	2	0.1%	1,030	69.3%	3	0.2%	61	4.1%	158	10.6%	1,486	100.0%
Total	2	0.1%	70	4.4%	71	4.4%	100	6.3%	2	0.1%	1120	<i>70.1%</i>	3	0.2%	71	4.4%	159	<i>9.9%</i>	1,598	100.0%

Note: The data reflect the number of justices and judges as of February 1, 2007.

\* The race and ethnicity category descriptions were adapted from definitions used by the U.S. Census Bureau in Census 2000, which for the first time invited respondents to identify more than one category. See Tab titled "Definitions" for descriptions of race and ethnicity categories.

\*\* "Some other race only" includes respondents who indicated they do not consider themselves to be any of the six identified race and ethnicity categories. To provide the most accurate data, the "some other race" category includes only those respondents who identified some other race or ethnicity that did not clearly fall within one or more of the six identified categories. Respondents who indicated "some other race or ethnicity" but identified that race or ethnicity as one or more of the six identified categories are included within the appropriate categories.

# Demographic Data Provided by Judges and Justices Relative to Gender (Gov. Code, § 12011.5(n))

Court	Fe	male	N	Iale	Т	otal
	Ν	%	Ν	%	Ν	%
Supreme Court	3	<i>42.9%</i>	4	57.1%	7	100.0%
Court of Appeal	32	30.5%	73	69.5%	105	100.0%
First District	6	30.0%	14	70.0%	20	100.0%
Second District	12	37.5%	20	62.5%	32	100.0%
Third District	2	18.2%	9	81.8%	11	100.0%
Fourth District	8	32.0%	17	68.0%	25	100.0%
Fifth District	2	20.0%	8	80.0%	10	100.0%
Sixth District	2	28.6%	5	71.4%	7	100.0%
Trial Court	398	26.8%	1,088	73.2%	1,486	100.0%
Alameda	20	29.9%	47	70.1%	67	100.0%
Alpine	0	0.0%	2	100.0%	2	100.0%
Amador	1	50.0%	1	50.0%	2	100.0%
Butte	3	30.0%	7	70.0%	10	100.0%
Calaveras	0	0.0%	2	100.0%	2	100.0%
Colusa	0	0.0%	2	100.0%	2	100.0%
Contra Costa	15	45.5%	18	54.5%	33	100.0%
Del Norte	0	0.0%	2	100.0%	2	100.0%
El Dorado	1	16.7%	5	83.3%	6	100.0%
Fresno	5	14.3%	30	85.7%	35	100.0%

# Demographic Data Provided by Judges and Justices Relative to Gender (Gov. Code, § 12011.5(n))

Court	Fe	male	N	Iale	Т	otal
	Ν	%	N	%	Ν	%
Glenn	0	0.0%	2	100.0%	2	100.0%
Humboldt	1	14.3%	6	85.7%	7	100.0%
Imperial	1	11.1%	8	88.9%	9	100.0%
Inyo	0	0.0%	2	100.0%	2	100.0%
Kern	3	9.1%	30	90.9%	33	100.0%
Kings	0	0.0%	7	100.0%	7	100.0%
Lake	0	0.0%	4	100.0%	4	100.0%
Lassen	0	0.0%	2	100.0%	2	100.0%
Los Angeles	130	30.4%	298	69.6%	428	100.0%
Madera	1	14.3%	6	85.7%	7	100.0%
Marin	4	40.0%	6	60.0%	10	100.0%
Mariposa	0	0.0%	2	100.0%	2	100.0%
Mendocino	1	12.5%	7	87.5%	8	100.0%
Merced	0	0.0%	6	100.0%	6	100.0%
Modoc	0	0.0%	2	100.0%	2	100.0%
Mono	0	0.0%	2	100.0%	2	100.0%
Monterey	5	29.4%	12	70.6%	17	100.0%
Napa	2	33.3%	4	66.7%	6	100.0%
Nevada	1	16.7%	5	83.3%	6	100.0%
Orange	28	25.7%	81	74.3%	109	100.0%
Placer	2	22.2%	7	77.8%	9	100.0%
Plumas	1	50.0%	1	50.0%	2	100.0%
Riverside	9	18.4%	40	81.6%	49	100.0%
Sacramento	14	26.9%	38	73.1%	52	100.0%
San Benito	0	0.0%	2	100.0%	2	100.0%

# Demographic Data Provided by Judges and Justices Relative to Gender (Gov. Code, § 12011.5(n))

Court	Fe	male	N	Iale	Т	otal
	Ν	%	Ν	%	Ν	%
San Bernardino	14	22.2%	49	77.8%	63	100.0%
San Diego	38	29.9%	89	70.1%	127	100.0%
San Francisco	25	50.0%	25	50.0%	50	100.0%
San Joaquin	7	26.9%	19	73.1%	26	100.0%
San Luis Obispo	3	27.3%	8	72.7%	11	100.0%
San Mateo	9	34.6%	17	65.4%	26	100.0%
Santa Barbara	1	5.6%	17	94.4%	18	100.0%
Santa Clara	22	28.9%	54	71.1%	76	100.0%
Santa Cruz	2	22.2%	7	77.8%	9	100.0%
Shasta	2	22.2%	7	77.8%	9	100.0%
Sierra	0	0.0%	2	100.0%	2	100.0%
Siskiyou	1	25.0%	3	75.0%	4	100.0%
Solano	3	18.8%	13	81.3%	16	100.0%
Sonoma	3	20.0%	12	80.0%	15	100.0%
Stanislaus	5	29.4%	12	70.6%	17	100.0%
Sutter	0	0.0%	5	100.0%	5	100.0%
Tehama	0	0.0%	4	100.0%	4	100.0%
Trinity	0	0.0%	2	100.0%	2	100.0%
Tulare	3	18.8%	13	81.3%	16	100.0%
Tuolumne	1	25.0%	3	75.0%	4	100.0%
Ventura	5	17.9%	23	82.1%	28	100.0%
Yolo	3	33.3%	6	66.7%	9	100.0%
Yuba	3	60.0%	2	40.0%	5	100.0%

Note: The data reflect the number of justices and judges as of February 1, 2007.

### Demographic Data Provided by Judges and Justices Relative to Race/Ethnicity\* (Gov. Code, § 12011.5(n))

	Ind	erican ian or a Native				.ck or rican	Hisp	anic or	Pacific	Slander			Some	e Other	Mor	e Than				
Court	C	nly	Asia	n Only	Americ	can Only	Latin	to Only	0	Only	Whit	e Only	Race	Only**	One	e Race	No Re	esponse	Т	otal
	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%
Supreme Court	0	0.0%	1	<i>14.3%</i>	0	0.0%	1	<i>14.3%</i>	0	0.0%	4	57.1%	0	0.0%	1	<i>14.3%</i>	0	0.0%	7	100.0%
Court of Appeal	0	0.0%	3	2.9%	3	2.9%	3	2.9%	0	0.0%	86	<i>81.9%</i>	0	0.0%	9	8.6%	1	1.0%	105	100.0%
First District	0	0.0%	0	0.0%	1	5.0%	1	5.0%	0	0.0%	18	90.0%	0	0.0%	0	0.0%	0	0.0%	20	100.0%
Second District	0	0.0%	2	6.3%	1	3.1%	0	0.0%	0	0.0%	25	78.1%	0	0.0%	3	9.4%	1	3.1%	32	100.0%
Third District	0	0.0%	0	0.0%	1	9.1%	0	0.0%	0	0.0%	7	63.6%	0	0.0%	3	27.3%	0	0.0%	11	100.0%
Fourth District	0	0.0%	0	0.0%	0	0.0%	2	8.0%	0	0.0%	22	88.0%	0	0.0%	1	4.0%	0	0.0%	25	100.0%
Fifth District	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	9	90.0%	0	0.0%	1	10.0%	0	0.0%	10	100.0%
Sixth District	0	0.0%	1	14.3%	0	0.0%	0	0.0%	0	0.0%	5	71.4%	0	0.0%	1	14.3%	0	0.0%	7	100.0%
Trial Court	2	0.1%	66	4.4%	68	4.6%	96	6.5%	2	0.1%	1,030	<i>69.3%</i>	3	0.2%	61	4.1%	158	10.6%	1,486	100.0%
Alameda	0	0.0%	4	6.0%	11	16.4%	5	7.5%	0	0.0%	34	50.7%	0	0.0%	5	7.5%	8	11.9%	67	100.0%
Alpine	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%
Amador	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%
Butte	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	9	90.0%	0	0.0%	0	0.0%	1	10.0%	10	100.0%
Calaveras	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	50.0%	0	0.0%	1	50.0%	0	0.0%	2	100.0%
Colusa	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%
Contra Costa	0	0.0%	2	6.1%	1	3.0%	1	3.0%	0	0.0%	27	81.8%	0	0.0%	1	3.0%	1	3.0%	33	100.0%
Del Norte	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%
El Dorado	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	6	100.0%	0	0.0%	0	0.0%	0	0.0%	6	100.0%
Fresno	1	2.9%	1	2.9%	2	5.7%	5	14.3%	0	0.0%	22	62.9%	0	0.0%	2	5.7%	2	5.7%	35	100.0%
Glenn	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%
Humboldt	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	6	85.7%	0	0.0%	1	14.3%	0	0.0%	7	100.0%
Imperial	0	0.0%	0	0.0%	0	0.0%	3	33.3%	0	0.0%	4	44.4%	0	0.0%	1	11.1%	1	11.1%	9	100.0%
Inyo	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%
Kern	0	0.0%	1	3.0%	0	0.0%	1	3.0%	0	0.0%	24	72.7%	0	0.0%	1	3.0%	6	18.2%	33	100.0%
Kings	0	0.0%	0	0.0%	0	0.0%	1	14.3%	0	0.0%	4	57.1%	0	0.0%	2	28.6%	0	0.0%	7	100.0%
Lake	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	4	100.0%	0	0.0%	0	0.0%	0	0.0%	4	100.0%
Lassen	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%
Los Angeles	1	0.2%	28	6.5%	30	7.0%	35	8.2%	2	0.5%	262	61.2%	1	0.2%	23	5.4%	46	10.7%	428	100.0%
Madera	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	7	100.0%	0	0.0%	0	0.0%	0	0.0%	7	100.0%

### Demographic Data Provided by Judges and Justices Relative to Race/Ethnicity\* (Gov. Code, § 12011.5(n))

	1				1	1			1			-								
	Amer	rican																		
	India	un or			Bla	ck or														
	Alaska	Native			Afr	ican	Hisp	anic or	Pacific	Islander			Some	e Other	More	e Than				
Court	On	nly	Asia	n Only	Americ	an Only	Latin	o Only	C	Only	Whit	e Only	Race	Only**	One	e Race	No R	esponse	T	otal
Marin	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	9	90.0%	0	0.0%	0	0.0%	1	10.0%	10	100.0%
Mariposa	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%
Mendocino	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	7	87.5%	0	0.0%	1	12.5%	0	0.0%	8	100.0%
Merced	0	0.0%	1	16.7%	0	0.0%	0	0.0%	0	0.0%	5	83.3%	0	0.0%	0	0.0%	0	0.0%	6	100.0%
Modoc	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%
Mono	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%
Monterey	0	0.0%	0	0.0%	0	0.0%	3	17.6%	0	0.0%	13	76.5%	0	0.0%	1	5.9%	0	0.0%	17	100.0%
Napa	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	6	100.0%	0	0.0%	0	0.0%	0	0.0%	6	100.0%
Nevada	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	6	100.0%	0	0.0%	0	0.0%	0	0.0%	6	100.0%
Orange	0	0.0%	5	4.6%	3	2.8%	7	6.4%	0	0.0%	84	77.1%	1	0.9%	4	3.7%	5	4.6%	109	100.0%
Placer	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	8	88.9%	0	0.0%	0	0.0%	1	11.1%	9	100.0%
Plumas	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%
Riverside	0	0.0%	0	0.0%	1	2.0%	1	2.0%	0	0.0%	28	57.1%	0	0.0%	1	2.0%	18	36.7%	49	100.0%
Sacramento	0	0.0%	5	9.6%	4	7.7%	4	7.7%	0	0.0%	32	61.5%	0	0.0%	3	5.8%	4	7.7%	52	100.0%
San Benito	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	50.0%	0	0.0%	1	50.0%	0	0.0%	2	100.0%
San Bernardino	0	0.0%	1	1.6%	2	3.2%	3	4.8%	0	0.0%	46	73.0%	0	0.0%	3	4.8%	8	12.7%	63	100.0%
San Diego	0	0.0%	5	3.9%	4	3.1%	7	5.5%	0	0.0%	84	66.1%	0	0.0%	1	0.8%	26	20.5%	127	100.0%
San Francisco	0	0.0%	6	12.0%	3	6.0%	1	2.0%	0	0.0%	38	76.0%	0	0.0%	0	0.0%	2	4.0%	50	100.0%
San Joaquin	0	0.0%	1	3.8%	2	7.7%	2	7.7%	0	0.0%	19	7 <i>3</i> .1%	0	0.0%	1	3.8%	1	3.8%	26	100.0%
San Luis Obispo	0	0.0%	0	0.0%	0	0.0%	1	9.1%	0	0.0%	10	90.9%	0	0.0%	0	0.0%	0	0.0%	11	100.0%
San Mateo	0	0.0%	1	3.8%	0	0.0%	0	0.0%	0	0.0%	18	69.2%	0	0.0%	1	3.8%	6	23.1%	26	100.0%
Santa Barbara	0	0.0%	0	0.0%	0	0.0%	3	16.7%	0	0.0%	15	83.3%	0	0.0%	0	0.0%	0	0.0%	18	100.0%
Santa Clara	0	0.0%	2	2.6%	2	2.6%	8	10.5%	0	0.0%	54	71.1%	1	1.3%	2	2.6%	7	9.2%	76	100.0%
Santa Cruz	0	0.0%	0	0.0%	0	0.0%	1	11.1%	0	0.0%	6	66.7%	0	0.0%	1	11.1%	1	11.1%	9	100.0%
Shasta	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	8	88.9%	0	0.0%	0	0.0%	1	11.1%	9	100.0%
Sierra	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%
Siskiyou	0	0.0%	1	25.0%	0	0.0%	0	0.0%	0	0.0%	3	75.0%	0	0.0%	0	0.0%	0	0.0%	4	100.0%
Solano	0	0.0%	1	6.3%	2	12.5%	0	0.0%	0	0.0%	10	62.5%	0	0.0%	0	0.0%	3	18.8%	16	100.0%
Sonoma	0	0.0%	1	6.7%	0	0.0%	0	0.0%	0	0.0%	10	66.7%	0	0.0%	0	0.0%	4	26.7%	15	100.0%
Stanislaus	0	0.0%	0	0.0%	0	0.0%	1	5.9%	0	0.0%	16	94.1%	0	0.0%	0	0.0%	0	0.0%	17	100.0%

#### **Demographic Data Provided by Judges and Justices Relative to Race/Ethnicity\*** (Gov. Code, § 12011.5(n))

Court	Ind Alaska	erican ian or a Native Dnly	Asia	n Only	Af	.ck or rican can Only	1	anic or to Only		c Islander Dnly	Whi	te Only		e Other Only**		e Than e Race	No R	esponse	Т	'otal
Sutter	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	4	80.0%	0	0.0%	0	0.0%	1	20.0%	5	100.0%
Tehama	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	4	100.0%	0	0.0%	0	0.0%	0	0.0%	4	100.0%
Trinity	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%
Tulare	0	0.0%	0	0.0%	0	0.0%	1	6.3%	0	0.0%	12	75.0%	0	0.0%	1	6.3%	2	12.5%	16	100.0%
Tuolumne	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	4	100.0%	0	0.0%	0	0.0%	0	0.0%	4	100.0%
Ventura	0	0.0%	0	0.0%	1	3.6%	2	7.1%	0	0.0%	22	78.6%	0	0.0%	2	7.1%	1	3.6%	28	100.0%
Yolo	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	7	77.8%	0	0.0%	1	11.1%	1	11.1%	9	100.0%
Yuba	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	5	100.0%	0	0.0%	0	0.0%	0	0.0%	5	100.0%

Note: The data reflect the number of justices and judges as of February 1, 2007.

\* The race and ethnicity category descriptions were adapted from definitions used by the U.S. Census Bureau in Census 2000, which for the first time invited respondents to identify more than one category. See Tab titled "Definitions" for descriptions of race and ethnicity categories.

\*\* "Some other race only" includes respondents who indicated they do not consider themselves to be any of the six identified race and ethnicity categories. To provide the most accurate data, the "some other race" category includes only those respondents who identified some other race or ethnicity that did not clearly fall within one or more of the six identified categories. Respondents who indicated "some other race or ethnicity" but identified that race or ethnicity as one or more of the six identified categories are included within the appropriate categories.

## Demographic Data Provided by Judges and Justices Responses with Two or More Races (Gov. Code, § 12011.5(n))

		Responses with Ra	
	Total Number of	<b>N</b> 7 1	
	Judges/Justices	Number	Percent
Supreme Court	7	1	14.3%
Asian; White		1	
Court of Appeal			
Second District	32	3	9.4%
Asian; Black or African American		1	
Hispanic; White		2	
Third District	11	3	27.3%
American Indian; White		2	
Asian; Pacific Islander		1	
Fourth District	25	1	4.0%
White; Some other race		1	
Fifth District	10	1	10.0%
Hispanic or Latino; White		1	
Sixth District	7	1	<i>14.3%</i>
Hispanic or Latino; White		1	
Trial Court			
Alameda	67	5	7.5%
Asian; Pacific Islander		1	
Black or African American; Hispanic or Latino		1	
Black or African American; White		1	
Hispanic or Latino; White		2	
Calaveras	2	1	50.0%
American Indian; Hispanic or Latino; White		1	
Contra Costa	33	1	3.0%
Hispanic or Latino; White		1	

## Demographic Data Provided by Judges and Justices Responses with Two or More Races (Gov. Code, § 12011.5(n))

		Responses wit Ra	
	Total Number of Judges/Justices	Number	Percent
Fresno	35	2	5.7%
Black or African American; White		1	
Hispanic or Latino; White		1	
Humboldt	7	1	14.3%
American Indian; Hispanic or Latino; White		1	
Imperial	9	1	11.1%
American Indian; White		1	
Kern	33	1	3.0%
American Indian; White		1	
Kings	7	2	28.6%
American Indian; White		1	
Pacific Islander; White		1	
Los Angeles	428	23	5.4%
American Indian; Black or African American		2	
American Indian; Hispanic or Latino		1	
American Indian; White		2	
Asian; Hispanic or Latino		1	
Asian; Pacific Islander		2	
Asian; White		4	
Hispanic or Latino; White		6	
White; Some other race		5	
Mendocino	8	1	12.5%
American Indian; White		1	
Monterey	17	1	5.9%
Black or African American; Hispanic or Latino	)	1	
Orange	109	4	3.7%
American Indian; White		2	
Hispanic or Latino; White		1	
White; Some other race		1	

## Demographic Data Provided by Judges and Justices Responses with Two or More Races (Gov. Code, § 12011.5(n))

	Total Number of	Responses wit Ra	h Two or More ces
	Judges/Justices	Number	Percent
Riverside	48	1	2.1%
American Indian; White		1	
Sacramento	52	3	5.8%
American Indian; Hispanic or Latino; White		1	
Black or African American; Hispanic or Lating	)	1	
White; Some other race		1	
San Benito	2	1	50.0%
American Indian; White		1	
San Bernardino	63	3	4.8%
American Indian; White		2	
White; Some other race		1	
San Diego	126	1	0.8%
Hispanic or Latino; White		1	
San Joaquin	26	1	3.8%
Hispanic or Latino; White		1	
San Mateo	26	1	3.8%
Asian; White		1	
Santa Clara	76	2	2.6%
American Indian; Hispanic or Latino; White		1	
Asian; Hispanic or Latino		1	
Santa Cruz	9	1	11.1%
Hispanic or Latino; White		1	
Tulare	16	1	6.3%
Hispanic or Latino; White		1	
Ventura	28	2	7.1%
Hispanic or Latino; White		1	
White; Some other race		1	
Yolo	9	1	11.1%
American Indian; White		1	

#### Demographic Data Provided by Judges and Justices Relative to Gender and Race/Ethnicity\* (Gov. Code, § 12011.5(n))

#### Race/Ethnicity\*

Race/Ethnicity	1		I.		1	1			1		1			1			1			
	Ind	erican ian or 1 Native		Black or African H		Hisp	anic or	Pacific	Islander			Some	Other	More	e Than					
Court		nly	Asia	n Only		can Only	-	Latino Only		nly		e Only		Only**		Race	No Re	esponse	Т	otal
	Ν	%	Ν	%	Ν	%	Ν	%	N	%	Ν	%	Ν	%	Ν	%	N	%	Ν	%
Female																				
Supreme Court	0	0.0%	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	66.7%	0	0.0%	1	33.3%	0	0.0%	3	100.0%
Court of Appeal	0	0.0%	1	3.1%	1	3.1%	1	3.1%	0	0.0%	25	78.1%	0	0.0%	4	12.5%	0	0.0%	32	100.0%
Trial Court	0	0.0%	26	6.5%	31	7.8%	20	5.0%	1	0.3%	276	69.3%	1	0.3%	13	3.3%	30	7.5%	398	100.0%
Total	0	0.0%	27	6.2%	32	7.4%	21	4.8%	1	0.2%	303	<i>70.0%</i>	1	0.2%	18	4.2%	30	6.9%	433	100.0%
Male																				
Supreme Court	0	0.0%	1	25.0%	0	0.0%	1	25.0%	0	0.0%	2	50.0%	0	0.0%	0	0.0%	0	0.0%	4	100.0%
Court of Appeal	0	0.0%	2	2.7%	2	2.7%	2	2.7%	0	0.0%	61	83.6%	0	0.0%	5	6.8%	1	1.4%	73	100.0%
Trial Court	2	0.2%	40	3.7%	37	3.4%	76	7.0%	1	0.1%	755	69.4%	2	0.2%	47	4.3%	128	11.8%	1,088	100.0%
Total	2	0.2%	43	3.7%	39	3.3%	79	6.8%	1	0.1%	818	70.2%	2	0.2%	52	4.5%	129	11.1%	1,165	100.0%
Grand Total																				
Supreme Court	0	0.0%	1	14.3%	0	0.0%	1	14.3%	0	0.0%	4	57.1%	0	0.0%	1	14.3%	0	0.0%	7	100.0%
Court of Appeal	0	0.0%	3	2.9%	3	2.9%	3	2.9%	0	0.0%	86	81.9%	0	0.0%	9	8.6%	1	1.0%	105	100.0%
Trial Court	2	0.1%	66	4.4%	68	4.6%	96	6.5%	2	0.1%	1,031	69.4%	3	0.2%	60	4.0%	158	10.6%	1,486	100.0%
Grand Total	2	0.1%	70	4.4%	71	4.4%	100	6.3%	2	0.1%	1,121	<i>70.2%</i>	3	0.2%	70	4.4%	159	<i>9.9</i> %	1,598	100.0%

Note: The data reflect the number of justices and judges as of February 1, 2007.

\* The race and ethnicity category descriptions were adapted from definitions used by the U.S. Census Bureau in Census 2000, which for the first time invited respondents to identify more than one category. See Tab titled "Definitions" for descriptions of race and ethnicity categories.

\*\* "Some other race only" includes respondents who indicated they do not consider themselves to be any of the six identified race and ethnicity categories. To provide the most accurate data, the "some other race" category includes only those respondents who identified some other race or ethnicity that did not clearly fall within one or more of the six identified categories. Respondents who indicated "some other race or ethnicity" but identified that race or ethnicity as one or more of the six identified categories.

### Demographic Data Provided by <u>Female</u> Judges and Justices Relative to Race/Ethnicity\* (Gov. Code, § 12011.5(n))

Court	American Indian or Alaska Native Only		Asian Only		Black or African American Only		Hispanic or Latino Only		Pacific Islander Only		White Only		Some Other Race Only**		More Than One Race		No Response		Та	otal
	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%
Supreme Court	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	2	66.7	0	0.0	1	33.3	0	0.0	3	100.0
Court of Appeal	0	0.0	1	3.1	1	3.1	1	3.1	0	0.0	25	78.1	0	0.0	4	12.5	0	0.0	32	100.0
First District	0	0.0	0	0.0	0	0.0	1	16.7	0	0.0	5	83.3	0	0.0	0	0.0	0	0.0	6	100.0
Second District	0	0.0	1	8.3	1	8.3	0	0.0	0	0.0	8	66.7	0	0.0	2	16.7	0	0.0	12	100.0
Third District	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	1	50.0	0	0.0	1	50.0	0	0.0	2	100.0
Fourth District	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	7	87.5	0	0.0	1	12.5	0	0.0	8	100.0
Fifth District	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	2	100.0	0	0.0	0	0.0	0	0.0	2	100.0
Sixth District	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	2	100.0	0	0.0	0	0.0	0	0.0	2	100.0
Trial Court	0	0.0	26	6.5	31	7.8	20	5.0	1	0.3	276	69.3	1	0.3	13	3.3	30	7.5	398	100.0
Alameda	0	0.0	1	5.0	6	30.0	1	5.0	0	0.0	9	45.0	0	0.0	1	5.0	2	10.0	20	100.0
Alpine	0	-	0	-	0	-	0	-	0	_	0	_	0	-	0	-	0	-	0	-
Amador	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	1	100.0	0	0.0	0	0.0	0	0.0	1	100.0
Butte	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	2	66.7	0	0.0	0	0.0	1	33.3	3	100.0
Calaveras	0	-	0	-	0	_	0	-	0	-	0	-	0	-	0	-	0	-	0	-
Colusa	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-
Contra Costa	0	0.0	1	6.7	1	6.7	1	6.7	0	0.0	11	73.3	0	0.0	1	6.7	0	0.0	15	100.0
Del Norte	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-
El Dorado	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	1	100.0	0	0.0	0	0.0	0	0.0	1	100.0
Fresno	0	0.0	0	0.0	0	0.0	1	20.0	0	0.0	4	80.0	0	0.0	0	0.0	0	0.0	5	100.0
Glenn	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-
Humboldt	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	1	100.0	0	0.0	1	100.0
Imperial	0	0.0	0	0.0	0	0.0	1	100.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	1	100.0
Inyo	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-
Kern	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	3	100.0	0	0.0	0	0.0	0	0.0	3	100.0
Kings	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-
Lake	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-
Lassen	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-
Los Angeles	0	0.0	8	6.2	13	10.0	5	3.8	1	0.8	91	70.0	0	0.0	5	3.8	7	5.4	130	100.0
Madera	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	1	100.0	0	0.0	0	0.0	0	0.0	1	100.0

#### Demographic Data Provided by <u>Female</u> Judges and Justices Relative to Race/Ethnicity\* (Gov. Code, § 12011.5(n))

	Ame	rican																		
	Indi	an or			Bla	ck or														
	Alaska	Native			Afr	ican	Hisp	anic or	Pacific	Islander			Some	Other	More	e Than				
Court	O	nly	Asia	n Only	Americ	an Only	Latino Only		0	nly	Whit	e Only	Race	Only**	One	Race	No Re	sponse	T	otal
Marin	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	4	100.0	0	0.0	0	0.0	0	0.0	4	100.0
Mariposa	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-
Mendocino	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	1	100.0	0	0.0	1	100.0
Merced	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-
Modoc	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-
Mono	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-
Monterey	0	0.0	0	0.0	0	0.0	1	20.0	0	0.0	3	60.0	0	0.0	1	20.0	0	0.0	5	100.0
Napa	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	2	100.0	0	0.0	0	0.0	0	0.0	2	100.0
Nevada	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	1	100.0	0	0.0	0	0.0	0	0.0	1	100.0
Orange	0	0.0	1	3.6	1	3.6	0	0.0	0	0.0	24	85.7	1	3.6	0	0.0	1	3.6	28	100.0
Placer	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	2	100.0	0	0.0	0	0.0	0	0.0	2	100.0
Plumas	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	1	100.0	0	0.0	0	0.0	0	0.0	1	100.0
Riverside	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	4	44.4	0	0.0	0	0.0	5	55.6	9	100.0
Sacramento	0	0.0	3	21.4	1	7.1	1	7.1	0	0.0	5	35.7	0	0.0	1	7.1	3	21.4	14	100.0
San Benito	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-
San Bernardino	0	0.0	0	0.0	1	7.1	0	0.0	0	0.0	11	78.6	0	0.0	0	0.0	2	14.3	14	100.0
San Diego	0	0.0	4	10.5	2	5.3	4	10.5	0	0.0	26	68.4	0	0.0	0	0.0	2	5.3	38	100.0
San Francisco	0	0.0	3	12.0	2	8.0	1	4.0	0	0.0	18	72.0	0	0.0	0	0.0	1	4.0	25	100.0
San Joaquin	0	0.0	1	14.3	1	14.3	1	14.3	0	0.0	4	57.1	0	0.0	0	0.0	0	0.0	7	100.0
San Luis Obispo	0	0.0	0	0.0	0	0.0	1	33.3	0	0.0	2	66.7	0	0.0	0	0.0	0	0.0	3	100.0
San Mateo	0	0.0	1	11.1	0	0.0	0	0.0	0	0.0	6	66.7	0	0.0	0	0.0	2	22.2	9	100.0
Santa Barbara	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	1	100.0	0	0.0	0	0.0	0	0.0	1	100.0
Santa Clara	0	0.0	1	4.5	2	9.1	2	9.1	0	0.0	14	63.6	0	0.0	1	4.5	2	9.1	22	100.0
Santa Cruz	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	1	50.0	0	0.0	1	50.0	0	0.0	2	100.0
Shasta	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	1	50.0	0	0.0	0	0.0	1	50.0	2	100.0
Sierra	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-
Siskiyou	0	0.0	1	100.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	1	100.0
Solano	0	0.0	0	0.0	1	33.3	0	0.0	0	0.0	2	66.7	0	0.0	0	0.0	0	0.0	3	100.0
Sonoma	0	0.0	1	33.3	0	0.0	0	0.0	0	0.0	1	33.3	0	0.0	0	0.0	1	33.3	3	100.0
Stanislaus	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	5	100.0	0	0.0	0	0.0	0	0.0	5	100.0

#### Demographic Data Provided by Female Judges and Justices **Relative to Race/Ethnicity\*** (Gov. Code, § 12011.5(n))

Court	American Indian or Alaska Native Only		Asian Only		Black or African American Only		Hispanic or Latino Only				White Only		Some Other Race Only**		More Than One Race		No Response		Te	otal
Sutter	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-
Tehama	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-
Trinity	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-	0	-
Tulare	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	3	100.0	0	0.0	0	0.0	0	0.0	3	100.0
Tuolumne	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	1	100.0	0	0.0	0	0.0	0	0.0	1	100.0
Ventura	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	5	100.0	0	0.0	0	0.0	0	0.0	5	100.0
Yolo	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	3	100.0	0	0.0	0	0.0	0	0.0	3	100.0
Yuba	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	3	100.0	0	0.0	0	0.0	0	0.0	3	100.0

Note: The data reflect the number of justices and judges as of February 1, 2007.

\* The race and ethnicity category descriptions were adapted from definitions used by the U.S. Census Bureau in Census 2000, which for the first time invited respondents to identify more than one category. See Tab titled "Definitions" for descriptions of race and ethnicity categories.

\*\* "Some other race only" includes respondents who indicated they do not consider themselves to be any of the six identified race and ethnicity categories. To provide the most accurate data, the "some other race" category includes only those respondents who identified some other race or ethnicity that did not clearly fall within one or more of the six identified categories. Respondents who indicated "some other race or ethnicity" but identified that race or ethnicity as one or more of the six identified categories are included within the appropriate categories.

### Demographic Data Provided by <u>Male</u> Judges and Justices Relative to Race/Ethnicity\* (Gov. Code, § 12011.5(n))

Court	Indi Alaska	American Indian or Alaska Native Only		Asian Only		Black or African American Only		Hispanic or Latino Only		Pacific Islander Only		White Only		Some Other Race Only**		e Than Race	No Response		To	otal
	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%	Ν	%	N	%
Supreme Court	0	0.0	1	25.0	0	0.0	1	25.0	0	0.0	2	50.0	0	0.0	0	0.0	0	0.0	4	100.0
Court of Appeal	0	0.0	2	2.7	2	2.7	2	2.7	0	0.0	61	83.6	0	0.0	5	6.8	1	1.4	73	100.0
First District	0	0.0	0	0.0	1	7.1	0	0.0	0	0.0	13	92.9	0	0.0	0	0.0	0	0.0	14	100.0
Second District	0	0.0	1	5.0	0	0.0	0	0.0	0	0.0	17	85.0	0	0.0	1	5.0	1	5.0	20	100.0
Third District	0	0.0	0	0.0	1	11.1	0	0.0	0	0.0	6	66.7	0	0.0	2	22.2	0	0.0	9	100.0
Fourth District	0	0.0	0	0.0	0	0.0	2	11.8	0	0.0	15	88.2	0	0.0	0	0.0	0	0.0	17	100.0
Fifth District	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	7	87.5	0	0.0	1	12.5	0	0.0	8	100.0
Sixth District	0	0.0	1	20.0	0	0.0	0	0.0	0	0.0	3	60.0	0	0.0	1	20.0	0	0.0	5	100.0
Trial Court	2	0.2	40	3.7	37	3.4	76	7.0	1	0.1	755	69.4	2	0.2	47	4.3	128	11.8	1,088	100.0
Alameda	0	0.0	3	6.4	5	10.6	4	8.5	0	0.0	25	53.2	0	0.0	4	8.5	6	12.8	47	100.0
Alpine	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	2	100.0	0	0.0	0	0.0	0	0.0	2	100.0
Amador	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	1	100.0	0	0.0	0	0.0	0	0.0	1	100.0
Butte	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	7	100.0	0	0.0	0	0.0	0	0.0	7	100.0
Calaveras	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	1	50.0	0	0.0	1	50.0	0	0.0	2	100.0
Colusa	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	2	100.0	0	0.0	0	0.0	0	0.0	2	100.0
Contra Costa	0	0.0	1	5.6	0	0.0	0	0.0	0	0.0	16	88.9	0	0.0	0	0.0	1	5.6	18	100.0
Del Norte	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	2	100.0	0	0.0	0	0.0	0	0.0	2	100.0
El Dorado	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	5	100.0	0	0.0	0	0.0	0	0.0	5	100.0
Fresno	1	3.3	1	3.3	2	6.7	4	13.3	0	0.0	18	60.0	0	0.0	2	6.7	2	6.7	30	100.0
Glenn	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	2	100.0	0	0.0	0	0.0	0	0.0	2	100.0
Humboldt	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	6	100.0	0	0.0	0	0.0	0	0.0	6	100.0
Imperial	0	0.0	0	0.0	0	0.0	2	25.0	0	0.0	4	50.0	0	0.0	1	12.5	1	12.5	8	100.0
Inyo	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	2	100.0	0	0.0	0	0.0	0	0.0	2	100.0
Kern	0	0.0	1	3.3	0	0.0	1	3.3	0	0.0	21	70.0	0	0.0	1	3.3	6	20.0	30	100.0
Kings	0	0.0	0	0.0	0	0.0	1	14.3	0	0.0	4	57.1	0	0.0	2	28.6	0	0.0	7	100.0
Lake	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	4	100.0	0	0.0	0	0.0	0	0.0	4	100.0
Lassen	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	2	100.0	0	0.0	0	0.0	0	0.0	2	100.0
Los Angeles	1	0.3	20	6.7	17	5.7	30	10.1	1	0.3	172	57.7	1	0.3	17	5.7	39	13.1	298	100.0
Madera	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	6	100.0	0	0.0	0	0.0	0	0.0	6	100.0

### Demographic Data Provided by <u>Male</u> Judges and Justices Relative to Race/Ethnicity\* (Gov. Code, § 12011.5(n))

	1	ĺ			1	I			1	I		ĺ		I	I		I	I		
	Ame																			
		an or				ck or														
		Native				ican		anic or		Islander				Other		Than				
Court	Oı	nly	Asiar	n Only	Americ	an Only	Latin	o Only	C	Inly	White	e Only	Race	Only**	One	Race	No Re	sponse	Т	otal
Marin	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	5	83.3	0	0.0	0	0.0	1	16.7	6	100.0
Mariposa	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	2	100.0	0	0.0	0	0.0	0	0.0	2	100.0
Mendocino	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	7	100.0	0	0.0	0	0.0	0	0.0	7	100.0
Merced	0	0.0	1	16.7	0	0.0	0	0.0	0	0.0	5	83.3	0	0.0	0	0.0	0	0.0	6	100.0
Modoc	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	2	100.0	0	0.0	0	0.0	0	0.0	2	100.0
Mono	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	2	100.0	0	0.0	0	0.0	0	0.0	2	100.0
Monterey	0	0.0	0	0.0	0	0.0	2	16.7	0	0.0	10	83.3	0	0.0	0	0.0	0	0.0	12	100.0
Napa	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	4	100.0	0	0.0	0	0.0	0	0.0	4	100.0
Nevada	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	5	100.0	0	0.0	0	0.0	0	0.0	5	100.0
Orange	0	0.0	4	4.9	2	2.5	7	8.6	0	0.0	60	74.1	0	0.0	4	4.9	4	4.9	81	100.0
Placer	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	6	85.7	0	0.0	0	0.0	1	14.3	7	100.0
Plumas	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	1	100.0	0	0.0	0	0.0	0	0.0	1	100.0
Riverside	0	0.0	0	0.0	1	2.5	1	2.5	0	0.0	24	60.0	0	0.0	1	2.5	13	32.5	40	100.0
Sacramento	0	0.0	2	5.3	3	7.9	3	7.9	0	0.0	27	71.1	0	0.0	2	5.3	1	2.6	38	100.0
San Benito	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	1	50.0	0	0.0	1	50.0	0	0.0	2	100.0
San Bernardino	0	0.0	1	2.0	1	2.0	3	6.1	0	0.0	35	71.4	0	0.0	3	6.1	6	12.2	49	100.0
San Diego	0	0.0	1	1.1	2	2.2	3	3.4	0	0.0	58	65.2	0	0.0	1	1.1	24	27.0	89	100.0
San Francisco	0	0.0	3	12.0	1	4.0	0	0.0	0	0.0	20	80.0	0	0.0	0	0.0	1	4.0	25	100.0
San Joaquin	0	0.0	0	0.0	1	5.3	1	5.3	0	0.0	15	78.9	0	0.0	1	5.3	1	5.3	19	100.0
San Luis Obispo	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	8	100.0	0	0.0	0	0.0	0	0.0	8	100.0
San Mateo	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	12	70.6	0	0.0	1	5.9	4	23.5	17	100.0
Santa Barbara	0	0.0	0	0.0	0	0.0	3	17.6	0	0.0	14	82.4	0	0.0	0	0.0	0	0.0	17	100.0
Santa Clara	0	0.0	1	1.9	0	0.0	6	11.1	0	0.0	40	74.1	1	1.9	1	1.9	5	9.3	54	100.0
Santa Cruz	0	0.0	0	0.0	0	0.0	1	14.3	0	0.0	5	71.4	0	0.0	0	0.0	1	14.3	7	100.0
Shasta	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	7	100.0	0	0.0	0	0.0	0	0.0	7	100.0
Sierra	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	2	100.0	0	0.0	0	0.0	0	0.0	2	100.0
Siskiyou	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	3	100.0	0	0.0	0	0.0	0	0.0	3	100.0
Solano	0	0.0	1	7.7	1	7.7	0	0.0	0	0.0	8	61.5	0	0.0	0	0.0	3	23.1	13	100.0
Sonoma	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	9	75.0	0	0.0	0	0.0	3	25.0	12	100.0
Stanislaus	0	0.0	0	0.0	0	0.0	1	8.3	0	0.0	11	91.7	0	0.0	0	0.0	0	0.0	12	100.0

#### Demographic Data Provided by <u>Male</u> Judges and Justices Relative to Race/Ethnicity\* (Gov. Code, § 12011.5(n))

Court	American Indian or Alaska Native Only		or lative		Black or African American Only		Hispanic or Latino Only		Pacific Islander Only		White Only		Some Other Race Only**		More Than One Race		No Ro	esponse	Te	otal
Sutter	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	4	80.0	0	0.0	0	0.0	1	20.0	5	100.0
Tehama	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	4	100.0	0	0.0	0	0.0	0	0.0	4	100.0
Trinity	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	2	100.0	0	0.0	0	0.0	0	0.0	2	100.0
Tulare	0	0.0	0	0.0	0	0.0	1	7.7	0	0.0	9	69.2	0	0.0	1	7.7	2	15.4	13	100.0
Tuolumne	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	3	100.0	0	0.0	0	0.0	0	0.0	3	100.0
Ventura	0	0.0	0	0.0	1	4.3	2	8.7	0	0.0	17	7 <b>3.</b> 9	0	0.0	2	8.7	1	4.3	23	100.0
Yolo	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	4	66.7	0	0.0	1	16.7	1	16.7	6	100.0
Yuba	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	2	100.0	0	0.0	0	0.0	0	0.0	2	100.0

Note: The data reflect the number of justices and judges as of February 1, 2007.

\* The race and ethnicity category descriptions were adapted from definitions used by the U.S. Census Bureau in Census 2000, which for the first time invited respondents to identify more than one category. See Tab titled "Definitions" for descriptions of race and ethnicity categories.

\*\* "Some other race only" includes respondents who indicated they do not consider themselves to be any of the six identified race and ethnicity categories. To provide the most accurate data, the "some other race" category includes only those respondents who identified some other race or ethnicity that did not clearly fall within one or more of the six identified categories. Respondents who indicated "some other race or ethnicity" but identified that race or ethnicity as one or more of the six identified categories.

# Demographic Data Provided by Judges and Justices Relative to Race/Ethnicity (Gov. Code, § 12011.5(n))

#### **Race/Ethnicity Categories**

The category descriptions are adapted from definitions used by the U.S. Census Bureau in Census 2000, which for the first time invited respondents to identify more than one category.

American Indian or Alaska Native: A person having origins in any of the original peoples of North and South America (including Central America), and who maintains tribal affiliation or community attachment.

*Asian*: A person having origins in any of the original peoples of the Far East, Southeast Asia, or the Indian subcontinent. The category includes persons who indicate their race as Cambodian, Chinese, East Indian, Filipino, Japanese, Korean, Malaysian, Pakistani, Thai, or Vietnamese.

Black or African American: A person having origins in any of the black racial groups of Africa.

*Hispanic or Latino*: A person of Cuban, Mexican, Puerto Rican, South or Central American, or other Spanish culture or origin, regardless of race.

*Native Hawaiian or Other Pacific Islander*: A person having origins in any of the original peoples of Hawaii, Guam, Samoa, or other Pacific Islands.

White: A person having origins in any of the original peoples of Europe, the Middle East, or North Africa.